PreQuiz 15.2

Carnot Cycle

Name






Middle Name





Do you like your middle name?



Show your work, and circle your answers and use sig figs to receive full credit.

1. A heat engine consumes 57 J of heat and does 23 J of work.  What heat does it waste?

(34 J)

A heat engine wastes 56 J of heat and does 12 J of work.  What heat does it consume?

(68 J)

2. A heat engine that has a Carnot efficiency of 56 % and has a cold temperature of 85.0 oC, has what as its hot temperature?  (Answer in Celcius)

(540.8 -> 540 oC)

3. A heat engine does useful work at a rate of 219 Watts, and operates between a temperature of 317 oC and 37 oC.  Assume it operates at full Carnot efficiency.

a. What is its Carnot efficiency?

(.4745 -> .47)
b. At what (Watt) rate is heat supplied to the heat engine?

(461.6 -> 460 W)

c. At what rate is heat wasted by the heat engine?

(242.6 -> 240 W)
